Ines’s Linear Regression

Enigma n°8

19t" December 2024

Ines is working on a statistics project in a car company. She needs to perform a linear regression.
She has the following four data points in 2D:
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Can you help her find the slope of the line of best fit for these points?
Give your answer rounded to the nearest 1073.

JE M'APPELLE INES, ET
JE SUIS INGENIEURE EN [A
DANS L'AUTOMOBILE

PARFOIS, LES ALGORITHMES SONT
TRES COMPLEXES MAIS C'EST
LA MEME BASE DE PROGRAMMATION
QUE L'ON APPREND AU COLLEGE !

POUR FOURNIR AUX UTILISATEURS
LES INFORMATIONS LES PLUS PRECISES
POSSIBLES, IL FAUT PRENDRE EN COMPTE
UNE MULTITUDE DE DONNEES ET FAIRE
DE NOMBREUSES PREDICTIONS.

Ines’ poster, to be found in ”diagonale Eiffel”.



